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Section : General English

Q.1 Select the most appropriate synonym of the given word.

Lavish
Ans & 1 scarce

( 2. Bountiful
x 3. Austere
x 4. Simple

Question ID : 239087119
Status : Answered
Chosen Option: 2

Q.2 Select the most appropriate antonym of the given word.

Hidden
Ans X" 1 Covered

x 2. Concealed

< 3. Veiled

( 4. Apparent

Question ID : 239087121
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to fill in the blank.

| congratulated him
Ans X' 1 because of

X 2. due to
( 3.on
x 4.to

his promotion.

Question ID : 239087111
Status : Answered
Chosen Option: 3

Q.4 Choose the most appropriate word that can substitute the given group of words.

Group of singers

Ans ( 1. Choir
X 2. Council
X 3. Jury

x 4. Orchestra

Question ID : 239087125
Status : Answered
Chosen Option: 1




Q.5 Choose the correctly spelt word.
Ans X1 Allert

x 2. Excead

« 3. Equipped

X 4. Emfasize

Question ID : 239087128
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate synonym of the given word.

Ans

Accountable

X 1. Blameless

( 2. Answerable

x 3. Slack

X 4. Unreliable

Question ID : 239087120
Status : Answered
Chosen Option : 2

Q.7
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____in the
body weight. It is increasing 2.____ a fast pace in our country. It has 3.___ adverse health
effects and can even 4.____ to pre-mature death. The basic cause of obesityis 5.____

imbalance between energy intake and energy expenditure.

SubQuestion No : 7
Select the most appropriate option for blank No. 1.

f 1. increase
X 2. raise
X 3. decline

x 4. decrease

Question ID : 239087114
Status : Answered
Chosen Option: 1

Q.8
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____in the
body weight. It is increasing 2.____ a fast pace in our country. It has 3.___ adverse health
effects and can even 4.____ to pre-mature death. The basic cause of obesity is 5.____

imbalance between energy intake and energy expenditure.

SubQuestion No : 8
Select the most appropriate option for blank No. 2.

W 1at
X 2. by
/5 3. with
x 4.0n

Question ID : 239087115
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____in the
body weight. It is increasing 2. a fast pace in our country. It has 3. adverse health

effects and can even 4.____ to pre-mature death. The basic cause of obesity is 5.____
imbalance between energy intake and energy expenditure.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank No. 3.

Ans  of 1 many
25 2 little
75 3. few
x 4. much

Question ID : 239087116
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____in the
body weight. It is increasing 2. a fast pace in our country. It has 3. adverse health

effects and can even 4.____ to pre-mature death. The basic cause of obesity is 5.____
imbalance between energy intake and energy expenditure.

SubQuestion No : 10
Q.10 Select the most appropriate option for blank No. 4.

Ans X" 1 point
x 2. start
W 3.lead
X 4. take

Question ID : 239087117
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____in the
body weight. It is increasing 2.____ a fast pace in our country. It has 3.___ adverse health
effects and can even 4.____ to pre-mature death. The basic cause of obesityis 5.____
imbalance between energy intake and energy expenditure.

SubQuestion No : 11
Q.11 Select the most appropriate option for blank No. 5.

Ans  of 1 the
x 2.no
X 3. one
X 4.a

Question ID : 239087118
Status : Answered
Chosen Option : 4

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
The people in my office are smarter than other offices. /No error




Ans X" 1. The people in

x 2. No error

( 3. smarter than other offices

X 4. my office are

Question ID : 239087105
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
If he would tried he would have succeeded.

Ans X" 1. was tried
x 2. No Improvement
x 3. is tried
« 4. had tried

Question ID : 239087108
Status : Answered
Chosen Option : 4

Q.14 Choose the correctly spelt word.
Ans X" 1 Dielema

W 2. Dilempia
x 3. Dilema
75 4. Dillema

Question ID : 239087127
Status : Answered

Q.15 Find the part of the given sentence that has an erro|
error’.

The doctor with his interns are due to arrive here by noon.
Ans x 1. The doctor with his

x 2. No error

x 3. to arrive here by noon

“ 4. interns are due

Question ID : 239087107
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate option to fill in the blank.
The little puppy was by a speeding car.

Ans X" 1 run away
o 2. run over
x 3.run at
x 4. run into

Question ID : 239087129
Status : Answered
Chosen Option : 1

Q.17 Choose the most appropriate word that can substitute the given group of words.
Full of criticism and mockery




Ans B 1 Cliché

x 2. Eulogy
x 3. Praise
“ 4. Satire

Question ID : 239087126
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
Applications are invite to eligible candidates for the post of Vice Principal in a reputed
school.

Ans X" 1. No Improvement
( 2. invited from

x 3. invited by
x 4. inviting from

Question ID : 239087109
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate meaning of the given idiom.
Come to light

Ans X" 1. To be obscure
x 2. To be well lit-up
x 3. To pry a secret
( 4. To be known publicly

Question ID : 239087123
tatus : Answered
ption: 3

Q.20 Select the most appropriate option to fill in the blank.
The wonderful performance of the maestro left the audience

Ans X" 1 puzzled
x 2. hungry
x 3. sleepy

( 4. entranced

Question ID : 239087130
Status : Answered
Chosen Option : 4

Q.21 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
The terrorist was arrested for the first time in December, 2001.

Ans X" 1 for first timing
x 2. in the first time
x 3. for one times

( 4. No Improvement

Question ID : 239087110
Status : Answered
Chosen Option : 4




Q.22 Select the most appropriate antonym of the given word.
Goodwill

Ans o 1 Hostility
25 2. Felicity
x 3. Insanity
25 4. Facility

Question ID : 239087122
Status : Answered
Chosen Option: 1

Q.23 Select the most appropriate option to fill in the blank.
Teachers would like a long holiday.

Ans X' 1 have
x 2. having been

x 3. having for

( 4. to have

Question ID : 239087112
Status : Answered
Chosen Option : 4

Q.24 Select the most appropriate meaning of the given idiom.
Above one's head

Ans X" 1. To be very tall
x 2. Intimate and personal
X 3. Overhead expenses

( 4. Beyond one's understanding

Question ID : 239087124
Status : Answered
Chosen Option : 4

Q.25 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Mukherjee is a famous politician who is love by most people. /No error
Ans X" 1. No error

( 2. is love by most people
x 3. Mukherjee is a

x 4. famous politician who

Question ID : 239087106
Status : Answered
Chosen Option : 2

Section : General Intelligence & Reasoning
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Question ID : 239087379
Status : Answered
Chosen Option : 4

Q.2 39 2 G T T HIY fAwah g1 oreg smuw # 3 vearR Haifda & i v iR Ry g
2TE o & i1 2reg oMU § Heifdd 81

areft : arem
Ans  off 1 siftm: e
25 2. Fafor s s
p SR

75 4. T

Question ID : 239087357
Status : Answered
Chosen Option: 1

Q.3 U ge HIaT #, ‘EMPTYD' &t ‘CINQWA’ forar sirer 81 3t he 4T & 'VACANT' < his rm
ghm?

Ans o7 TXAXLQ
75 2. UYAMYR
/< 3.TXBXLQ
75 4.UYBYMR

Question ID : 239087361
Status : Answered
Chosen Option: 1

Q.4 A Ry Rweul d & Iu e w giv st Fafaf@d sjaern & us fRig (?) & = w gt
37,33,29,25,?
Ans &' 1.22
5 2.19
o 321
X 4.20

Question ID : 239087369
Status : Answered
Chosen Option : 3

Q.5 A Ry el d & 39 e w giv st Fafaf@a sjaer & ust g (?) & = w engeth

72,69, 64,?,48




Ans  of 1 57
5 2.55
53,59
S 454

Question ID : 239087370
Status : Answered
Chosen Option: 1

Q.6 Qe e |TaT #, ‘ALERT’ &t “11251820’ forar sirar & ok ‘HERD' &t ‘85184 forar strar &1 3t
hi<s ST # ‘CLOTH’ <hT h1< T g ?

Ans  of 1 31215208
/< 2.31512207
#5 3.31215218
75 4.38152014

Question ID : 239087363
Status : Answered
Chosen Option : 1

Q.7 fm=fafad Reeul d @ 3u den ) gfhv s el sjaear § fodl den @ s ag @
Teiflra g fOT avg & gt e uge dear @ |@d6fda &1

101:10202::107: 2
Ans  of 1 11450

X 2.11447
75 3.12449
< 4.12550

Question ID : 239087371
Status : Answered
Chosen Option : 1

Q.8 Tf + dYUT - &l WRER & f&ar ST & af f=feif@a awfierzor @1 a= = ghm?
72-91+13%x12+6=2
Ans X" 1140
25 2,144
& 3.156
o 4.150

Question ID : 239087374
Status : Answered
Chosen Option : 4

Q.9 A Ry g Al 3k I Frsep ot e @ ufegl Al A & 1 SRR @l | AT gg,
e & AT w0 | 719 di @ = @a g, Aofa fifeig 6 Ry mg sqwn/@ Fresd, swuet @
ATfheh U & FTHRUT a1/ &1

FHYU:
|. TS 915 FR &
Il. & FR Eh &l

fAreer:
|. S Th aEh gl
II. FYE 915 2ok A8 81

Ans X" 1. et e | SRl AT B




«z.ma}ﬁ&ﬁﬁlmﬁwﬁllaﬂﬂ?mm%
25 3. et Foremd 11 SEROT ol R1
25 4. 3 Freamd | @ 11 SIgEROT A &1

Question ID : 239087367
Status : Answered
Chosen Option : 2

Q10 far wiw Y=ot 1 ewEES seTEa W AN 3Ty F T S g gy F By v de w g
FET

Ans 7 E
X2 E
Xs.@

<4

Question ID : 239087376
Status : Answered
Chosen Option : 1

Q11 R 7w 82 F1 euEE HeTE AR IW TEA F G S T g Few (7) F v W osme

£ o Wl
2SS
6 8 37

Ans X1- 20
X2 28
X316
v 18

Question ID : 239087372
Status : Answered
Chosen Option : 4

Q.12 f=fefaa el d & 3w fawea # g st el e d iR sisr Tpd s e @
Teifa g fT avg @ o 91eR g ugd oierR uig 4 H«fda &1

RAT : UXW :: TOG:?
Ans  of 1 WLl

75 2. XMD
5 3.xLC
K 4w

Question ID : 239087359
Status : Answered
Chosen Option : 1

Q.13




2

T a1v Repedl A | 3§ HpA @ W0 N Eof@d §Eer # 30T T WA

L v T N
RV I 5T V N T ?
I N T[|R IN[|LR I||VLR
Ans
i
1 |NR
TV L
R
X2l N
T V L
N
X3l R
T V L
1
X4|RN
T V L

Question ID : 239087375
Status : Answered
Chosen Option : 1

Q.14 s:@fw L, M, N, P, Q 94T R T tfeh # SwR &t 31k 9@ &eeh 46 §Q & (548 761 [ et smr &
gh1 P au1 M & Teg 9 =afwh g1 P fohelt oft gah R R =i @1 L aur Q & A< haer o= aafwh g1
N, R & arfi 3R 21 L freft gar sR ©R 81 M, P & =i 3R &1
N & st 81k forat aafer a3 gu @?

Ans 5K 4
~o21
32
K43

Question ID : 239087365
Status : Answered
Chosen Option: 3

Q.15 2 oy g st iR 37ah Feepaf &6t earer @ ufeq) syt # &t 71$ SR @t @ 714 §Q,
qTg & AT w0 & 719 ai @ = @a g, oo fifeig 6 Ry mg sqwn/@ P, syt o
arfeher 9 | FTERUT a1/ & 1

<hYH:
Laft T MEl
I.RET, P8I

forsep:
I. g P MTE 81
I.FsM, TEI

Ans X" 1. 2T e | qer 11 SrgERoT R E
of 2. Fae frsn || argaRor aa &1
X 3. o o P arercor 7 avear 81
£ 4. darer e | SIEROT el 81

Question ID : 239087368
Status : Answered
Chosen Option: 2




\

Q16 37 mg & ghaw 3 A R e 391t F @7 & Fow F w@ 9K F a3
F, ASH, TH

x-OQCD

<: (0D

X 3.

/- OOO

Ans

Question ID : 239087380
Status : Answered
Chosen Option : 4

Q.17 Qe ge WINT #, ‘ROGER’ ol ‘5’ forar Sira & 8fik ‘MOULDS’ i ‘6’ formar st 81 It e e &
‘PIN’ <hT <hI< =T g1 ?

Ans  of 1.3
K 2.8
X 3.4
K42

Question ID : 239087362
Status : Answered
Chosen Option : 1

Q18 frr are fsmedtt & ¥ 3@ 3o A H e Fowed A & o el awafifea ¥

F

Ans

v &

< [
\

N

X 3




A
et

Question ID : 239087377
Status : Answered
Chosen Option: 1

Q.19 fA=fafae fsedl & & 39 e & giAg ot Ffai@d siaen & dR e @ 3 avg @ d@dfda
¢ O ave 9 g7 2res uge 2reg @ Haifda 81

AT : ket :: ST : ?
Ans x1§%

W 2. R

X 3w

K 4 sy

Question ID : 239087358
Status : Answered
Chosen Option : 2

Q.20 B: HRAATJ, K, PR, S U1 T Teh & HUR Qo vt Tt & (S8 T8t fh S s=ft sp A @) I R, Shaar P
aUTS & FWR g1 J 9T S & 7oA IR FHRAAT &1 K, P & ofi=1 Tum Fur 1
af} g9 31 FRiET ol IR & 2 T guiigera 3 safeda &, at fha HRET o = (J 5

BISHR) T& SIGM?
Ans x1.2
v 23
X 31
~ a0

Question ID : 239087366
Status : Answered
Chosen Option : 2

Q.21 = Ry faereul § @ 39 siaR 9g &t gAY o el s d s g () F A wR
ST

RAB, TDG, VGL, ? , ZMV
Ans « 1.XJQ

< 2. VLR
X 3.xkQ
5 4 YKR

Question ID : 239087356
Status : Answered
Chosen Option: 1

Q22 g e 0T A AB YW1 T @ 1 &, & A & 1 sy #r @ g9or ofy #r g

A

4IN3

Ans
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&N b
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Question ID : 239087378
Status : Answered
Chosen Option : 1

Q.23 Qe ge WINT H, ‘PAPER’ &l ‘UFUJW’ forar S1rar &1 St ghe siman & ‘MOURN’ < shis T g ?
Ans X" 1 SUBXT

o 2. RTZWS

75 3.RTAWS

5 4. SUAXT

Question ID : 239087360
Status : Answered
Chosen Option: 2

Q.24 fA=afafEa gefieror it 98 T9M & g fore gt RIgl ot smaw & aeemr ghm ?

14%x16+8+2-1=17
Ans 3K 1 xqer -

of 2 +aux
K 3 +auw=
x4.—ﬁ?ﬂ+

Question ID : 239087373
Status : Answered
Chosen Option: 2

Q.25 uf= @sfRat D, L, N, O T Q Teh Uk & affior ot oiik 7 awds 361 g€ & (oot =l s =it ovm
Hg) IL OF arfi siR @R T R A g€ 81 Q, D F WA arfi sk A& g€ 31 QaarN F A &
sfrat 461 gf &1 D & arfi ok forah wrefraf 3 g€ & 2

Ans x1_2
K 2.4
K33
of 41




Question ID : 239087364
Status : Answered
Chosen Option : 4

Section : Numerical Aptitude

Q.1 f=h o Fr =2, ©F segeaT du (fAeieR) & R $ fiswr g F=e & e § e fr i

S (FTHE TR ) AT 9 (FHeisY) & a% 55 & S H HedId e 87

s o121
K24:2
K31:1
X4+2:3

Question ID : 239087502
Status : Answered
Chosen Option : 1

Q2 36.8x4+2+4-1+50f3+(4x2-3)—3 & A fhagar &2

ans X118
X216

Question ID : 239087482
Status : Answered
Chosen Option : 3

Q3 qﬁx:y:z=3:4i 53ﬂTX+y+Z

Question ID : 239087491
Status : Answered
Chosen Option : 4

Q4 A3 fREr 3vg F 15% @1 9T 31495 F 41| TES U FeT IEG TG TSEST AT Hp TR TG

TS I F ST ¥ O W 75 Ihg F 10% F T N &M A F FA Frdar st FAET?

Ans  of 1 %325
X 2 %450
X 3 %375
X 4 %425

Question ID : 239087490
Status : Answered
Chosen Option : 1

Q5 A 7g O 3 & T S FEAT R, ST 3, 4 9w 5 ¥ Renferg aa W FA: 1, 2 9ur 3 99tk I

B A ¥ 3 F TR BhaeT &7
Ans




X111
v'2 10
X3 6
X4 8

Question ID : 239087481
Status : Answered
Chosen Option : 2

Q.6 A foralr a1 Y 3o 10 e & T WhaT &1 A TUr B 3€ #4 @ et 20/3 Rt F ww wwa £ A,
B g C 36 F1r &1 Het 40/7 &t # T "o &1 B a@ur C 38 1 & Hees o At F =2
TR £7

Ans 44

1.
x> iy
v
Xa s

Question ID : 239087496
Status : Answered
Chosen Option : 3

Q.7 #=r Rar waw gvs amw BT wet & Rffes mret # 10 s Rt & 2Reas e (°C) & gafar

|
e . 02
gg E
E %
20
15 122
10 ‘
s
04 . T ‘ - —
Ds Dl D8 D9

s

D ‘D2

&

& B & v Ry v swr & e B v ssaaw i sgmas dfteas aeE & @ e s
(fe=h afemam &) &7

Ans  X1.27.1
X2 261
X3 280
v 281

Question ID : 239087505
Status : Answered
Chosen Option : 4

Q.8 oy wemst 1 oS IR wiws Fr RN ¥ FUT TEh SO, 3w e Hroameh ¥ Aty wems &
% 2 em g, dF TR O F1 S (UF) forde 2T S auae 390 O & gAT g7

Ans of 1 4 em
<264 cm
<38 cm
X472 cm

Question ID : 239087501




Status : Answered
Chosen Option : 1

Q.9  Fr=r R srar gvE s TRT we & Rffew A # 10 e B ¥ afeaw g (°C #) #r

Zaftar &1

I

o] % s W o m W 402

S0 2 =

25

20

15 12

10

5

0 . . . v .
Dl D D3 D4 D3 D6 D D8 D D10

&

D5 &7 aI9A=, D3 & a9A= ¥ fbaer gfgem sfaes &7
Ans 1. 23.01%
X2 21.07%
X 3 2457%
v 4 16.67%

Question ID : 239087504
Status : Answered
Chosen Option : 4

Q.10 fordr 3 anl-afer &7 <IT® 35 cm g1 3HSHT Fol I AFG fehdell gl (n=§§f)

Ans K 12981 cm?
v 2 28875 cm?
< 3 3163 cm?
<4 2198.5 cm?

Question ID : 239087500
Status : Answered
Chosen Option : 2

Q.11 = Rar 737 2v5 am@ et T & Rfeew ot & 10 B B ¥ 3fmas aoae (C &) @

Zalar &1

43

4] m s g T4 w2 W o2

ga n 57

25

20

15 n

10

5

0 - . - . . :
D1 D2 D3 D4 Ds Dé D7 D8 D9 Dio

e

& 1w gw e F fw wkta wex = v dftwas avEe e 2
Ans  X1.32.96 °C

v'2 3396 °C

X< 3 3586 °C

X 4 4496 °C




Question ID : 239087503
Status : Answered
Chosen Option : 2

Q12 zrg A v 959G B & aFT Hod FA 11200 TF 31600 §1 358G A # R Few 31380 § aur gt
FEGET F IS I A AT 26% ¥ TG B F IS W o g Baar 82

Ans  X'1.275
V2 325
X3 295
X4 355

Question ID : 239087489
Status : Answered
Chosen Option : 2

Q.13 gy it o= % 60 Hex s # gu vd R B A w e 3 2 ¥ 3y g gw st o oA
TS 1 1 T e E, 79 Bsor # fraer A onh Gem s aifge?

Are K110 drex
X 216 #eT
V212 FreY
X 414 dex

[ Question ID : 239087493
Status : Answered

Chosen Option : 3
L

Q.14 t= YoEmEr 900 FreT @8 SoewE # 300 FHUS F 9N waT ¥ I Yeendr i #ars 600 At &, aw
g TF fBuT @ (T o) @ e OET & ) #7 mear £

e X1 5 e
V2 2 e
X3 3 e
X4 4 e

Question ID : 239087499
Status : Answered
Chosen Option : 2

Q15 a, b @arc & d\a 98l b aur c & 3EaT 10 &1 a F AF gear 87
Ais X1 G

V27

X3 8

X449

Question ID : 239087484
Status : Answered
Chosen Option : 2

Q16 Tt =g ¥ ifha T T RoFT T 7 FgTE 12 1 7 ¥ g wied e @2
Ans  of 1.41.67
<2375




X3 39.33
X 4 4233

Question ID : 239087486
Status : Answered
Chosen Option : 1

Q.17 £f¥aT TemT eo=7 87 X 2500 & ofir 2 = & 2600 & == &1 ofE sum=r &v F amer w7 R

Srar &, 8 500 @ i 2 av # s @efi?
Ans X 1.¥500

X 2.3520

< 3.3560

v 4 3550

Question ID : 239087494
Status : Answered
Chosen Option : 4

a1 R 717 318 F1 ago fhae 87

4 3. 432 52 K5346413533
Ans X1 4
V23
K32
K45

Question ID : 239087487
Status : Answered
Chosen Option: 2

Q.19 A%maﬁm@ﬁmmnﬁﬁtmmmt;makmﬁ@wmﬁmﬁa;;ms
ZE 6 km &1 g0 15 kmih &1 7T & T, 3T AT 9 km B g0 18 kmih FT T H TN T FLAT

¥ A F I A f e oy R B

Ans x1 ﬂk /h

X 2 ﬂk m/h
X 3 ﬂk m/h
v ﬂkm/h

Question ID : 239087498
Status : Answered
Chosen Option : 4

Q.20 35 ot & wag @ AwT g 23 T ) 22 A F AT WG T 4 T T OF & § AU g &

e g 9 F (F wHEeE T 9F) a8
Ans X 1.24.4

X 2245

X3 238

v 231




Question ID : 239087485
Status : Answered
Chosen Option : 4

Q21 g A =7 x3+(2+4)+4-2B=3+6x4+2-20f3 T

C=6+2+4x3-2% dF (A+B-C) & A Faam &7
Ans —16

XTT
X2 2
3 =2

2
16

Koa =

3

Question ID : 239087483
Status : Answered
Chosen Option : 3

Q.22 %+ w0 F e R o F Teafe se W @y fR S € S 3 9§t & a1 gge 21000
T 4 Tt F 91 21100 g A= § 9 9% s £ a7 A 2

Ans  X1.12.5%
v'2 10%
X3 15%
X 4 20%

Question ID : 239087495
Status : Answered
Chosen Option : 2

Q23w A e ST &% #1152 # 90T R & T W 3R B 39 9 @9 @ Y A I A 15 He

A o141 g2 15 e
X2 49 g2 45 fA=e
X3 47 g2 30 fA=e
X 4 39 g 15 fB=e

Question ID : 239087497
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